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Instructions for Assignments

Submit this booklet after ticking (v ) the correct answers to your study Centre
on or before 15th April 2011. Retain a copy of this booklet with you.
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Which material is helpful in reducing plasticity of clay ?
(a) Plaster of Paris (b)  Cement
(c) Water (d Sand

Why did Munni tell Helku to leave farming in the story ‘Pus ki Raat’?
(@) Themoney earned by farming was not sufficient

(b) Halku was till

(¢c) Halkudid’nt want to do farming winters

(d) Halku was getting a job in the city

Which process is adopted to increase the plasticity of the clay?

(a) Tempering
(b) Centering
(c) Ageing

(d) Glazing

On what basis is “Going Rate Pricing” done?

(a) On the basis of production cost

(b)  On the basis of auction

(¢)  Onthe basis of market rate of the similar product
(d)  On the basis of interest of the customer

Which type of clay is better for making posts on the wheel ?
(a) Clay found in pond or river bed

(b) Clay found on the mountains

(¢) Cementmixedclay

(d) None of the above

Approximately how much time is required for ageing of clay?
(@) 3-4hours

(b) 2-3days

(c) 3-4 weeks

(d) 2 months
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Tutor Market Assignment

Course Code : OET-001
Max. Marks : 30

Choose the most appropriate option from the following by ticking (v ) them.

1.

A clay pot should be dried

(a)
(b)
(©
(d)

Quickly by placing under the hot sun to save time
By putting it inside a kiln
Slowly to avoid development of cracks

None of the above

What is the relation between potter and pot

(a)
(b)
(©
(d)

Buyer-Sellor
Husband-Wife
Teacher - Taught

None of the above

Which of the following is a tool used for product promotion?

(a)
(b)
(©
(d)

Inventory
Advertising
Transport

None of the above

Pug mill is used for

(a)
(b)
(©
(d)

Beating clay
Crushing clay
Baking clay
Joining clay




o e 3 3 o AT B4 BT & SH R Uer & w0 H 89 R/ e g
(@ ~
@ =
(M) R
(| UeRrR

et arem & fofw ygaa e &1 719 {59 gds § &1 Sl 27
) =d

)

WIS E]

) AT AT

o

243

o

AT BRA ST T4, f9T 7 79 &7 B |

PR BT 7D SIR <, A BT AHT BR | | 39 QI8 & XA @
@) wm

(@) YagH

(M) @R

() Jgerier™

a7 ART BT AT YT, SR DI off |
(P)  STRT AT

(@ =

(m) =TS

(@) SoE AW P T

ATH—31g WSRIT # ur=l & wia fhd MR W fgd fag o & 2
(@) M U ® GOTR WG R

(@) SdET oI W

@@ T B SR W

@) UED P B D IAMER W

2

o

What is added as temper to clay whose sand content is low?
(a) Sand

(b) Ash
(¢c) Cowdung
(d) Stone

Sieve used for clay sieving is measured in the unit
(a) inch

(b) om

(¢) pHnumber

(d) mesh Number

The poet of the following verse :
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(a) Rahim
(b) Raskhan
(c) Kabir
(d) Tulsidas

Who was Baba Bharti dearest pet
(a) Jebradog

(b) Sheep

(c) Horse

(d) None of the above

On what basis are the rates of pots fixed in Mark-up Pricing?
(a) Marketrate of similar products

(b) Costof production

(c) On the basis of auction

(d) On the basis of customer’s interest




